@ HURAKAN
KO®EMOJIKA HURAKAN HKN-MC6

©
@
®
@
—3

- ) o)
©)

—® @
3 24
@3

[

i@g

@
0 : ‘:?-@



KO®EMO/IKA HURAKAN HKN-MC6

Mos | HammeHoBaHue getanu
1 Base
2 Screw M5
3 Spring
4 Powder pusher
5 Screw nut for powder pusher M6
6 Blade holder
7 Scale adjustment
8 Scale adjustment screw
9 Funnel
10 | Funnel cap
11 Fuse holder
12 | Power switch
13 Motor
14 | Silicone rubber case
15 Base plate
16 Backup fuse
17 | Base plate screw M3
18 Food pad
19 Coffe powder container (for HKN-MC6)
20 | Cap of coffe powder container (for HKN-MC6)
21 Screw M4
22 | Fluted disks
23 Micro-switch holder
24 | Micro-switch
25 Handle holder (for HKN-MCB6)

@ HURAKAN



